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HYBRID

Katnyopia Katnyopia Katnyopia

2 (1.X.) & 3 (2-3 d6ovec) 4 (poptnyd) OOOODQ

ApXIKh Xpéwon pe

KOMBOI EIZ0AOZ €20A0Z el )
EAEYZINA N.Mépapog 240 080 160 67% 610 200 410 67% 850 280 570  67%

) EAEYZINA Méyapa 240 120 120 50% 610 3,10 300  49% = 850 420 430  51%

¢ ﬁw;‘:‘l’;’rflliwém EAEYZINA néxn 240 1,40 100  42% 610 350 260 43% 850 480 370  44%
N.Mpapog Méyapa 160 040 120 75% 410 1,10 300 73% 570 140 430  75%

N.Mépapiog néxn 160 060 100 63% 410 150 260 63% 570 200 370  65%

Kivéta Noutpdki 200 140 060 30% 520 3,70 150 29% 730 520 210  29%

) Kwéta Enisaupoc 200 150 050 25% 520 390 130 25% 730 540 190  26%
Klvéf:)—\?pzililo s Av.@e6bwpol Aoutpéki 200 080 120 60% 520 220 300 58% 730 300 430 59%
Ay. ©e66wpol Enisaupog 200 090 1,10 55% 520 240 280 54% 730 320 410  56%

Ay. O£65wpol TpinoAn 200 140 060 30% 520 370 150 29% = 730 510 220  30%

2 3: Apx. KépLvBog Kidto 260 160 100 38% 660 410 250 38% 920 570 350  38%
TpinoAn- ZeuyoAaud Kidto 2,60 0,80 1,80 69% 6,60 2,00 4,60 70% 9,20 2,70 6,50 71%
uddkaotpo ZeuyoAatid ZUAGKAoTPO 2,60 1,80 0,80 31% 6,60 4,50 2,10 32% 9,20 6,20 3,00 33%
NepBévt Akpdta 2,00 0,50 1,50 75% 5,00 1,20 3,80 76% 7,00 1,70 5,30 76%

DepBévt KaddBputa 270 120 150 56% 680 300 380 56% 960 430 530  55%

:Ugg’lz’;o‘t‘;)o_ DepBévt Avar. Afyto 370 220 150 41% 930 550 380  41% 1300 770 530  41%
Ava, Afyto Akpdta KaddBputa 270 070 200 74% 680 180 500  74% 960 260 7,00  73%
Akpdta Avat. Alyto 370 170 200 54% 930 430 500 54% 13,00 600 7,00  54%

KaddBputa Avar. Aiyio 370 100 270 73% 930 250 680  73% 1300 340 960  74%

) ZeAlavitka Apénavo 190 120 070 37% 490 300 190 39% 690 420 270  39%
Avcf.‘*;‘{;‘lf_: - SeAlavitika PIO 260 190 070 27% 650 460 190 29% 910 640 270  30%

Apénavo PIO 2,60 0,70 1,90 73% 6,50 1,60 4,90 75% 9,10 2,20 6,90 76%



